

NEINOR HOMES, S.A. (the **"Company"**), pursuant to the article 228 of the consolidated text of the Spanish Securities Market Act and by the Circular 1/2017 of the Spanish Securities Market Commission (CNMV) regarding the liquidity contracts, hereby notifies the following:

OTHER RELEVANT INFORMATION

In relation with the significant event published the 27th September of 2017 with registry number 256770 regarding the liquidity contract and in accordance with the provisions contained in rule fourth paragraph 2b) of Circular 1/2017, the Company attaches the detail of the transactions for the period comprised between 01/01/2021 and 31/03/2021.

Date	Concept	Shares	Balance (€)	Average Price (€)
27/09/2017	Initial Balance of the Agreement	28,000	500,000	
01/01/2021	Initial Balance of the period	50,151	332,890	
	Acquisitions of the period	97,753	1,041,970	10.66
	Sales of the period	100,392	1,078,167	10.74
31/03/2021	Final Balance of the period	47,512	369,087	

Madrid, January 28th, 2022.

Transactions according to trading dates.

No block trades were performed by the liquidity agent during the period.

Date of Transaction	Transaction	Number of Transactions	Total Shares	Average Price	Total Euros
04/01/2021	Acquired	1	50	10.90	545
04/01/2021	Sold	4	1,068	10.93	11,675
05/01/2021	Acquired	2	615	10.82	6,654
05/01/2021	Sold	5	1,600	10.87	17,396
06/01/2021	Acquired	2	400	10.76	4,304
06/01/2021	Sold	2	800	10.75	8,600
07/01/2021	Sold	4	1,800	10.87	19,558
08/01/2021	Sold	4	1,600	11.14	17,818
11/01/2021	Acquired	1	300	10.98	3,294
11/01/2021	Sold	4	1,400	11.13	15,580
12/01/2021	Acquired	1	300	10.96	3,288
12/01/2021	Sold	5	2,300	11.29	25,976
13/01/2021	Acquired	2	1,300	11.27	14,650
13/01/2021	Sold	5	3,284	11.30	37,095
14/01/2021	Acquired	4	1,600	11.23	17,974
14/01/2021	Sold	4	1,498	11.24	16,835
15/01/2021	Acquired	5	2,000	11.10	22,206
15/01/2021	Sold	7	1,891	11.13	21,041
18/01/2021	Acquired	5	1,496	11.05	16,528
18/01/2021	Sold	1	300	11.22	3,366
19/01/2021	Acquired	6	1,800	10.98	19,758
20/01/2021	Acquired	5	1,400	10.89	15,240
20/01/2021	Sold	1	300	10.90	3,270
21/01/2021	Acquired	5	1,800	10.80	19,446
21/01/2021	Sold	3	1,500	10.84	16,266
22/01/2021	Acquired	7	2,454	10.57	25,931
22/01/2021	Sold	6	2,100	10.61	22,272
25/01/2021	Acquired	5	3,392	10.74	36,419
25/01/2021	Sold	5	3,600	10.79	38,860
26/01/2021	Acquired	5	1,900	10.73	20,380
26/01/2021	Sold	2	1,500	10.73	16,110
27/01/2021	Acquired	2	600	10.68	6,408
27/01/2021	Sold	4	3,500	10.79	37,760
28/01/2021	Acquired	3	1,176	10.73	12,785
28/01/2021	Sold	3	1,500	10.94	16,410
29/01/2021	Acquired	5	2,594	10.99	28,515
29/01/2021	Sold	3	2,003	11.03	20,515
01/02/2021	Acquired	3	1,608	10.92	17,565
01/02/2021	Sold	2	1,000	10.92	13,564
		2	900	10.99	
02/02/2021	Acquired Sold	5			9,800 27.368
02/02/2021 03/02/2021		5 2	2,506	10.92 10.94	27,368
03/02/2021	Acquired Sold	2	2,500	10.94	27,340 21,940
03/02/2021		4		1	
	Acquired		2,506	10.82	27,109
04/02/2021	Sold	1	1,000	10.84	10,840
05/02/2021	Acquired	3	1,400	10.75	15,050
05/02/2021	Sold	1	600	10.76	6,456
08/02/2021	Acquired	3	2,646	10.83	28,648
08/02/2021	Sold	3	2,938	10.86	31,908

Neinor

09/02/2021	Acquired	4	1,812	10.82	19,600
09/02/2021	Sold	4	2,419	10.83	26,205
10/02/2021	Acquired	2	2,500	10.75	26,870
10/02/2021	Sold	2	1,500	10.76	16,140
11/02/2021	Acquired	5	3,000	10.64	31,930
11/02/2021	Sold	1	54	10.80	583
12/02/2021	Acquired	1	500	10.70	5,350
12/02/2021	Sold	5	2,500	10.76	26,890
15/02/2021	Acquired	2	2,500	10.81	27,030
15/02/2021	Sold	1	1,500	10.84	16,260
16/02/2021	Acquired	4	2,500	10.72	26,810
16/02/2021	Sold	2	1,500	10.77	16,160
17/02/2021	Acquired	3	2,000	10.71	21,410
17/02/2021	Sold	2	1,205	10.72	12,915
18/02/2021	Acquired	2	2,000	10.62	21,240
18/02/2021	Sold	1	500	10.68	5,340
19/02/2021	Acquired	2	2,000	10.61	21,220
19/02/2021	Sold	4	2,500	10.65	26,620
22/02/2021	Acquired	5	2,500	10.56	26,390
22/02/2021	Sold	2	1,000	10.60	10,600
23/02/2021	Acquired	2	1,000	10.52	10,520
23/02/2021	Sold	4	1,800	10.60	19,072
24/02/2021	Acquired	1	500	10.50	5,250
24/02/2021	Sold	4	3,500	10.67	37,350
25/02/2021	Sold	3	1,400	10.71	14,998
26/02/2021	Acquired	5	3,000	10.28	30,845
26/02/2021	Sold	3	1,500	10.20	15,440
01/03/2021	Acquired	6	3,500	10.29	36,760
01/03/2021	Sold	2	1,807	10.57	19,106
02/03/2021	Acquired	6	3,000	10.37	30,910
02/03/2021	Sold	5	2,530	10.33	
03/03/2021	Acquired	3		10.33	<u>26,140</u> 20,560
			2,000		
03/03/2021	Sold	4	1,500	10.32	15,481
04/03/2021	Acquired	3	3,500	10.25	35,860
04/03/2021	Sold	3	4,000	10.27	41,070
05/03/2021	Acquired	3	2,500	10.22	25,550
05/03/2021	Sold	3	2,000	10.26	20,520
08/03/2021	Acquired	3	2,006	10.22	20,501
08/03/2021	Sold	3	2,000	10.25	20,490
09/03/2021	Acquired	3	2,500	10.27	25,680
09/03/2021	Sold	3	2,500	10.29	25,730
10/03/2021	Acquired	2	800	10.55	8,438
10/03/2021	Sold	5	3,000	10.49	31,470
11/03/2021	Acquired	3	1,500	10.75	16,120
11/03/2021	Sold	1	500	10.76	5,380
12/03/2021	Acquired	3	1,567	10.61	16,630
12/03/2021	Sold	3	2,000	10.66	21,320
15/03/2021	Acquired	3	1,500	10.73	16,100
15/03/2021	Sold	3	2,500	10.77	26,930
16/03/2021	Sold	3	2,500	10.77	26,935
17/03/2021	Acquired	4	2,500	10.74	26,848

Neinor



17/03/2021	Sold	3	2,124	10.78	22,907
18/03/2021	Acquired	3	2,000	10.72	21,440
18/03/2021	Sold	4	1,847	10.74	19,830
19/03/2021	Acquired	3	1,500	10.65	15,980
22/03/2021	Acquired	2	678	10.55	7,156
22/03/2021	Sold	2	1,089	10.57	11,512
23/03/2021	Acquired	5	2,244	10.45	23,453
23/03/2021	Sold	2	1,300	10.49	13,632
24/03/2021	Acquired	4	1,109	10.36	11,492
25/03/2021	Acquired	2	800	10.24	8,190
25/03/2021	Sold	2	495	10.27	5,083